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QUESTION 1

Which interface in the java.util.function package will return a void return type? 

A. Supplier 

B. Predicate 

C. Function 

D. Consumer 

Correct Answer: D 

Reference: https://www.geeksforgeeks.org/java-8-consumer-interface-in-java-with-examples/ 

 

QUESTION 2

Which two statements correctly describe capabilities of interfaces and abstract classes? (Choose two.) 

A. Interfaces cannot have protected methods but abstract classes can. 

B. Both interfaces and abstract classes can have final methods. 

C. Interfaces cannot have instance fields but abstract classes can. 

D. Interfaces cannot have static methods but abstract classes can. 

E. Interfaces cannot have methods with bodies but abstract classes can. 

Correct Answer: AC 

Reference: https://www.guru99.com/interface-vs-abstract-class-java.html 

 

QUESTION 3

Given: 
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What is the result? 

A. The compilation fails at line 9. 

B. The compilation fails at line 2. 

C. Hello World 

D. The compilation fails at line 8. 

Correct Answer: C 

 

 

QUESTION 4

Given the declaration: 

Examine this code fragment: 

/* Loc1 */ class ProcessOrders { ... } 

Which two annotations may be applied at Loc1 in the code fragment? (Choose two.) 

A. @Resource(priority=100) 

B. @Resource(priority=0) 

C. @Resource(name="Customer1", priority=100) 

D. @Resource(name="Customer1") 

E. @Resource 
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Correct Answer: AB 

 

QUESTION 5

Given: 

Which statement on line 1 enables this code fragment to compile? 

A. Function function = String::toUpperCase; 

B. UnaryOperator function = s -> s.toUpperCase(); 

C. UnaryOperator function = String::toUpperCase; 

D. Function function = m -> m.toUpperCase(); 

Correct Answer: C 
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